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Multiplicacion (Vertical) Nombre:
Resuelve cada problema. Respuestas
) 1,478 2 3272 3 8,151 4) 4,796 .
X 3 X 3 X 9 X 5 '
2.
3.
4.
5 7,435 6) 5115 N 7171 8 6,615 i
X 8 X 4 X 9 X 4 '
6.
7.
8.
9 5,872 100 3,526 1) 7.272 12) 1,383 .
X 6 X 2 X 2 X 9 '
10.
11.
12.
13  7.870 14) 6,347 15 8,168 16) 9,882 .
X 9 X 4 X 6 X 5 '
14,
15.
16.
1) 4,149 18) 4311 19 8,538 200 6,133 .
X 9 X 9 X 4 X 8 .
18.
19.
20.
,y 1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplicacion (Vertical)

Nombre: Clave De Respuestas

Resuelve cada problema.

) 1,478 2)
x 3
4,434

5 7,435 6)

59,480

9 5,872 10)

35,232

13) 14)

7,870

70,830

17) 18)

4,149

37,341

3,272

X 3

9,816

5,115

20,460

3,526

7,052

6,347

25,388

4,311

38,799

3 8,151 4)
X 9
73,359

N 7,171 8)

64,539

11) 12)

7,272

14,544

15) 16)

8,168

49,008

19) 20)

8,538

34,152

4,796
X 5

23,980

6,615

26,460

1,383

12,447

9,882

49,410

6,133

49,064

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Respuestas

4,434

9,816

73,359

23,980

59,480

20,460

64,539

26,460

35,232

7,052

14,544

12,447

70,830

25,388

49,008

49,410

37,341

38,799

34,152

49,064
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